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uggl — Il / PART -1l
sreurailwsv / BOTANY
Guevslewsy — wgevmd gyer® / HHIGHER SECONDARY (FIRST YEAR)
(501 wHmId gy mislev eurfl / Tamil & English Version)

Gmrip: 2:30 wewfl ] [ Qwrss wHliCuewrser: 70

Time allowed: 2:30 Hours ] [ Maximum Marks : 70

g fleyswrser. (1) oewearsg allarrésepd Flwrs USleurd 2 6TOTSHT 6T6ITLIS 6T
FfluTidgis Cameraray. YFHLILSaled GmpuilBliler oemss
HERTHTeflLILTeTlLID 2 L eTiguirss 65 flallssab.

(2) Povib evevg Sy ewwullewer WL QG  TUPSHIUSD & LD
9958HsTIyHusHG  LweaTLBSS  Seusssr(HLb. LIL_ I &6iT
uemIausM @ OLTHY LIWTLRSHDH6LD.

Instrucitons: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

the diagrams.

ifley -1/ SECTION - |
15x1 =15
Goliy: (i) emersg allarTdsehd @ allenL wefldseyLb.
(i) OQasr@ssiiul L. prerE oL seafled Wasey  eMHLeDL W
allenL_uilewerrs GCaibOsHHSH GHOUTL (BT  allewL_uileweru)b
Coidg) 6TBe|Lh.
Note: (i)  Answer all the questions.
(i) Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding
answer.

[BwLiys [ Turn over ]
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“FHHE g T GBI 2 (HeUTEHHHIn 1qul G Tiiidsd Tresf]

(o) ewswGerrumrdieflur (<) eww&sCasrilerrevm
(®) 24519 CerrTemLoF L 61V () LehmEs6T

Causal organism for “sandal spike” is

(a) Cyanobacteria (b) Mycoplasma

(c) Actinomycetes (d) Fungi

urdieflu CFs) Glougdgl coLiT@sHemear GleuafllGuwmmieug sTeuaiemH
FPHFWTEHLD?

(o) phewm wigw CHPL L& 2 uilfl eurpbenasd Fpmd

(o) efflwwhm sripHal

(®) efflwpsTer &pmH

(FF) @)rilewi wigw CasLFL o uilfl euripbensd Fipmd

If bacterial cell breaks down and liberate phages, what type of cycle it is?

(a) Haplontic cycle (b) Lysogenic cycle
(c) Lytic cycle (d) Diplontic cycle
BLFSIT a6y enFeVLD OlaTewTL 61VLe 6D

(o) 213 Bevrm VIV (<) NardGL eI 6D
(®) 9513 Cwir eLesL (FF) OLTEHCLT 6V1e6D

Stele with star shaped xylem is

(a) Actinostele (b) Plectostele

(c) Dictyostele (d) Atactostele

00GLGLIF &HIbLI 6TERTOl6NTIIS HTeuTLD

(o) @CrriLGevflwur meraflwr () rTdHdlev swanGumredwmr
(®) QuriGsiflwr tNerCer_Lm  (/F) oy, LoHMID ()

Oil plant of Fabaceae is

(a) Crotalaria juncea (b) Arachis hypogea

(c) Pongamia pinnata (dband c

QuUTHBHSTS @)ewentewiid CsihHol%(®H

(o) #redl Grifwr - Qant g BrrediNsved
(o) svres evres - WPFFADDleW6V | BIHBE T L1 66V
(®) ClCsmesfiuwir - spaflFri uraisnsy 9emioey
(FF)  yevLoTeRITL IT - cpailewsy ) (H&aHemLo6Y
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EQLYJL!E Select the mismatch pair
(@) Sagittaria - Heterophylly
(b) Lablab - Trifoliolate
(c) Begonia - Leaf Mosaic
(d) Allamanaa - Ternate Phyllotaxy
6. GleudsedlsLeV @) 1LpeW LD 6T & BHILDLIG ST LISSTLITELD.
(o)) SCUGLA (=) @psor Grd
(®) QFrevrGesrd (%) NrrerdlsCasd
Vexillary aestivation is characteristic of the family
(a) Fabaceae (b) Asteraceae
(c) Solanaceae (d) Brassicaceae
7. §3 () 2_6WTEWLDI> I 6VT]WITEIT S

(o) wevlsir @GevaLien L G sueTidduybmi o evflwim@b

(=) wevifleir @evasLliemu LHMID LsLeOleuL L 1D sueTidAuybmi o evflwim@Ld
(®)) wevilssr @evaLienL, LeVedleul L b HMILD LdbSHeTLD euariddlujmmi
TG

(FF) evifler eW6aTdh G| 9 (Hd & EHLD euaridFdu)mmi &evflwim@Lb

A true fruit is the one where

a) Only ovary of the flower develops into fruit

b) Ovary and calyx of the flower develops into fruit

c) Ovary, calyx and thalamus of the flower develops into fruit

d) All floral whorls of the flower develops into fruit

8. LT TeoCUTEL &6 T-6L 63T OIS ML ILjewL WG]
(o) LEhwFH6T (<) uTdamssir
(®) Q&red Freurmiser () urdieNuwinkigser

Morphotaxa related to
(a) Fungi (b) Algae
(c) Fossil (d) Bacteria
9. @ewemths  B)h  FHVE  Bwevdsr, Gedwl L @Gevsliewu, @) GeVs
ODMEEHL_6T FTUIUTET (HMIdHGHIFUT GHTERTL FH6VELIewL 6% Ty (HLILIG
6TH 60T LIGTLIT&HLD?
(o) r@Grm wpmid Casrreargey (o)) Casrrersey wHmih Fnieorew
(®) Asrdlsorarv wI_[B)b (%) " @rm (b
Bicarpellary, syncarpous, superior, bilocular ovary with oblique septum is the

characteristic feature of
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10.

11.

12,

13.

(a) Datura and Catharanthus (b) Catharanthus and Ricinus

(c) Ricinus alone (d) Datura alone

ephailensd Hraurbisaflsy pmemm wigw &CrTrGLrGFribsefleT sTevwTeamntldHsends
14. Qi Hmayet SHaalsy sTewTlL@BL  &ECrTGLrGFmids siflsir
6T630T 63011 > 69 &

(@) 7 (=) 14 (@) 42 () 28

The haploid number of chromosomes for an Angiosperm is 14. The number
of chromosome in its endosperm would be

(a7 (b) 14 (c) 42 (d) 28

LlessTevuTsn) hiewT et mddslulled LilsiTouhoustTeummier 6Th% CoudlliGlLm e Loledr

201 (h)(HEUTS &H6TEW LD UM LG

(1) wevmigwid (=) Cousirer]

(®) sriwlwid (FF) Ol a medT

Which of the following electron opaque chemical used in electron microscope
(a) Palladium (b) Silver

(c) Cadminum (d) Silicon

80S enrGurGaribseaflsy 2 siter RNA cpsvdam misaflsit eTevorewtldenas

(o) 1 (=4) 2 (@) 3 () 4
Number of RNA molecule present in 80S ribosomes is
(a) 1 (b) 2 (c)3 (d) 4

GHeTmev LiGLiLNeT LilsiTouhid Blewsvsemer Fiflwimest pewmuilsd suflewFliLi(hGgid%.
() GsAsAT wrHDI>

(i) Hermriidlev

(iii) SWTeVLTESB6T (LpLg61MmIsHeL

(iv) BluyseflGuimsvsivy wemmaHsv

(o) i, i, iii. iv (<) i, iii, iv, i

(@) i, i, iv, iii (FF) i, 1, iii, v

Arrange the following events of meiosis in correct sequence.
(i) Crossing over

(i) Synapsis

(iif) Terminalisation of chiasmata

(iv) Disappearance of nucleolus

(@) i, i, iii. iv (b) i, iii, iv, i
(c) ii, i, iv, iii (d) i, i, iii, iv
4
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m!%!arlnl.g’é DNA-ailsit spp Ligglullsv 120 g emevresr wmmid 120 ena CLrHler sHmrymiser

2 siterenr.  Guspib @@ sluiley srewriiu@ 6wrsHs BlupdsaflGuwTen L (Hobsr
6T B EVT ¢
(o) 120 (<) 240 (@) 60 () 480
A segment of DNA has 120 adenine and 120 cytosine bases. The total
number of nucleotides in the segment is
(a) 120 (b) 240 (c) 60 (d) 480

15. QOpralsemerts QUT(hdgl SLPHTENID 6TdHIn DM 2 65TeNLD?

() LG eTetTEMFLD = CamrGeur sTeTewFLD + @)ewent GBI
(=) CGammevr eTeiTemaFLD = LIBUT sTedTenFID + @) emewt GBI

(®) @)ewewnt QBT = YLGUT sTesTem&Fid + CanTGeVT 6TEdTEWFLD
(FF) GammrGevr sTeiTemFLD = B)swewt GBpTH + 9LIGUIT 6TedTEMFLD

With reference to enzyme, which of the following is true?

(a) Apoenzyme = Holoenzyme + Coenzyme
(b) Holoenzyme = Apoenzyme + Coenzyme
(c) Coenzyme = Apoenzyme + Holoenzyme
(d) Holoenzyme = Coenzyme + Apoenzyme

ifley — 11 / SECTION - Il
6x2 =12
Il. sTewauGuisnb ym  allermésends@d 30 uTiSmaseEndh@ ST
aflewL_wefldseyid. ellerr stewr. 22 —H@ Sewrngliurs allenL_wefldEseyLb.
Answer any six of the following not exceeding 30 words. Question No. 22 is
compulsory.
16. &pmiF@wedlsv 1guyl” 19 Crrewwd i sHeflesr LdIG wrg?
What role do deuteromycetes play in the environment?
17. Gasymailsit @@TlICIL(HES LITSBISDET UHTHGI $LDHSTEILD LIL GBHeN6dT LT dhDH
QEITES

Complete the following diagram by drawing reproductive parts of Chara.
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How do mosses promote the growth of higher plants?

19.  ewrGarsGurymallsit Geouiassr BlevgHledlhihg CevChTdhd] suerTieus e Ter
ST TEWTLD 6T6IT6UT 7
Why does the roots of Rhizophora come out of the ground?

20. HAm@ eaugeud HmLIYHVEGLD WOHMID BB QUgeUd  Fn Ll lgeD6VdELD
TCHWILD p(h 2 HTTenTLd ST (.
Give one example each of pinnately compound and palmately compound leaf.

21, FPESITL LSKISEHS &M eVTeuTiILTL 6»L_& et (HLilLg.
@)HUTEL VT, QPUBIGTET, MbHBIS, Seollds Lsvedlsul L 1D  HMILD
9jsvedleul L 1b, GeVl L GGevsLlienL, LaugsF OlFSleienL wenel, LL&baHTIDLF
Fglsvhmeneu.
Find out the floral formula for bisexual flower with bract, regular,
pentamerous, distinct calyx and corolla, superior ovary without bracteole.

22.  suwslurliquwed  uglifled  sreugmisefler  euemSLILITL IgwWensy  6TaflSTd
SNHUSNHE 2 HaLb ueHSLILITL (B &[Hai 617
Which taxonomical aid serve as quick referral system of living plants in
taxonomical studies?

23. Oasr@ssiul L gnlalwsv Guwfer Gulsrid wHmib AHMlers Guwisenerd

HTL_Mbgl 6T(LSHIS
1) LOIT 65 F00GILITT (Z)6v0TIg 51T

2) CIFTeVITedTLD 19 Uyt IGTTFLD
Identify the generic and specific epithet name of given scientific name.
1) Managifera indica
2) Solanum tuberosum
24, Q& symFuiler ewwd) Blewevulled GlFLIHGHT sThals GCFweLLIT(HLD
BlBLPEUBlVEMEY  6TTM| & (HBEVTLOT ? 2 aTgl allewLenl  6THIBIGTLD
BlurTwii®dbgieum?
Does resting phase of the cell cycle signify that there is no activity going
inside the cell? Justify your answer.
ifley — 111 / SECTION - I
6x3 = 18
.  eteweuCGuignid m  alleTTdsEndsE 45  urisamgssEhs@ — LWGTLO

aflewL_weflssey. eflerr stewsr. 27 —H @ ey iLTs aflewL_wefléEseayib.
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EQYJL!é Answer any six of the following not exceeding 45 words. Question No. 27 is
compulsory.
25. Lyehewasemer Seafllt GlumbUfleurs sweuliLgm@ 6TLILIGRTLSGET &HTTeRTLOTS

SIWLOSIMGI 6TITM & (HGIH MTiia?
Which characteristics were considered while placing fungi in a separate
kingdom?

26. o hewaThHSlPBmIGL  reusTerld  HlPBIGLD  Blevdsiquiled  9FlELiLIguiTet
STFSMGF CFLIGHIGTMET. BHTLD 2 (HEDETEHEPBIHS HEWTIG6T 2 (HLOTHMLD
6TTeYLD, LogeueTellGaElpmiens Geulfler o (HTHMID eTOTMID & ([HGIS CmTLD.
6TedT?

Potato and Tapioca store starch rich food in underground tubers. We
consider potato as stem modification and tapioca as root modification. Why?

27.  FPEHTEHBTLIN6US E1hS @ HeWVFOIFTVITEBLD F(Hdb.

(i) 26 oiCUBEsSHHTDW DD WETHSESTT
(ii) L&HTHSBISHET (h O1HTHHTH ()W HHHI

(i)  wasrbssEsdL] 9L L igullHssev

Give the technical terms for the following:

i) A sterile stamen

i) Stamens are united in one bunch

iii) Stamens are attached to the petals

28.  FPESETEWID LISBISEHDBSTET 6T(HHSHIBBTL DL 6T(LHSI%.

PG SPOD, @G SPOD, UL SHOD  WSTHSSSTETHEBSSTT Qi
THSHIHHTL(H) S(H%5.

Give each one example of plants with monoadelphous, diadelphous, and
polyadelphous stamens found respectively.

29. &G  GHHUSHSHT ETHSHEHTET UL L He0SH  HeWVFCIFTMHEHATT6V
allerd & s.

Describe the androecium of Liliaceae member by using technical terms..

30. LIg 51 & 655115 S Blep 6iTer MCUT@FTLD% E1hd G Lb, enF_GLrierTaddlepsiTem
MCUTGFTibs Ehd &L @)ewL_Cuiwjsier sph CoumLITL_ewL_ 6T(LHFI%.

Give one difference between ribosomes of chloroplast and cytoplasmic
ribosomes

31.  urdfsefleerer LsFBiIsmlESSleT auigeuld  FesfldgGeud euTiiihsHg eTedr b
sTaRTEISIMTWIT? 2 6T aflewL_swwr BlwmwliLi(bhdbgis.

Do you think shape of chloroplast is unique for algae. Justify your answer.
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m!?e!‘rlﬂl.a’ﬂé QBT FGiwewrs sTrewflsewer OBTHHalO BB BHGL OUTWSH S5

sTeusuTm| GBTHH6f6r allewerd GlFweSnener LT EH DG ?
When we remove co factor how could it affect the catalytic activity of

enzymes?

33. Gmpiwsliuglisnu (ssemwl_LrTde) aflerdasliuL_GgiL et @& Hs.
Give diagrammatic representation of amitosis division..
ifley — IV / SECITON - IV
5x5 =10
ST S G ST EhS LD D UTTHemHHEhd ) LS TLO6V allew L_wierldseyLb.
Answer all the questions not exceeding 75 words.
34. wrisreraflureaisr Cs6L L& STeurd Fhasleww ailerdseLd
(Ssve51)
23lipBesrmerv©l L b 6iT LoMHMLD 94,65FCuirerv LI b 6iT allewgujemL_w
STOUTBISETT G LD. @eupPlnslen L Guiwimesr Caumiur®Hsemer
I L_auemenTLLI(HSSHI%.
Explain the gametophyte of Marchantia?
(or)
Gymnosperms and Angiosperms are seeded plants. Tabulate the
differences.
35. Y enGasTenwd L sefler Hesfl 2 miliL euensHear LIL Gk 6T aileuifl.
(sve051)
@rewTLmid Hlewsvls Liswflaemert Glurmisg Ceurseaflsit auswassHemear ailears ds.
Explain the type of fruit bodies of ascomycetes with diagram
(or)
Explain the types of roots based on their secondary functions.
36. Qewumssluilsr evedl @)sewivey Led @)swewwaledhihg Ceumul B
sTewTlILBSInG. @sewer Uln @)sewiveaysepLer sliilhs.

(Sysvev51)
ue Gprglsaflest Guwibul L GFwsourlign@ eV LTHLO6V6VTSH & TTesvfldeir
CapemaulILIHFSTDET. B)HIn DeOM jHhHTTewlHefler GlLwim HMID aIeNSHSHemer
alleuf$ 560 cLpsvid Blwmwibh g,
In China rose arrangement of sepals is different from petals. Justify your

answer in comparison with other types of arrangement.

(or)
8
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meteaming e ‘Many enzymes require non-protein components for their efficient activity’ —

Justify the above statement by naming the components and its types.
37.  Lri@rm Gl 6L edeT &1pd @M (hsTareummlesT LISTL SO 6T(LDSI%.
I. wepeFf il. evir iii. Lysvedleut’ L b iV.96060leuL" L LD
V. W&THSEHSTET 6ul_L 1D Vi.@eVs sul L 1b  Vii.seflssr  Viil.allewgssir
(Sjsvevg1)

weVBFTEFTLDH6IT GlFsv606tT ' % 65T 6W 6WT & & T @61 9| L1155 61 T6iT (61H LD
BISTEDIMILIL| STEYILD T NOD HGbB LIL-SGiIL6T afleur].
Write the characteristic features of Dafura metel/ with reference to the

following
i. Inflorescence ii.Flower iii. Calyx iv.Corolla
v. Androecium vi.Gynoecium  vii.Fruits viii.Seeds

(or)
Lysosomes are known as “Suicidal bags”. Explain it with labeled diagram.
38.  ewwil L rdswerv thwrHerdled mbg CoumiLi(Bdais.
(Sfevsv51)
Hrs SyewwliLiler usvGeum Blewevsener allerd @sb.

Differentiate between mitosis and meiosis.

(or)

Explain different levels of protein organization.
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